Unit 15 Vauxhall Industrial Estate
Greg Street, Reddish
Stockport
SK5 7BR
United Kingdom
Telephone: 0844 770 7969
web: www.approvedhydraulics.o.uk

Approved

YDRAULICS

H

Yx45°320°

AC

E

Yx45°120°
sscc|

TBW

. Rl
E c B ‘L"."T
I L L L
| IMB5_ @
G verall & Installation Dimensions
B3
Frame H A B © D E B G K AA AC L Lccl* KK TBS | TBW | TBH | SS XX 7z cc Y
56 56 90 71 36 ®9 20 3 7.2 |5.8x8.8| 110 | ¢117 196 232 1-M16x1.5 | 14 88 88 M3 9 12 25 | 05
63 63 100 80 40 @11 23 4 8.5 7%x10 120 | 9130 220 258 1-M16x1.5 | 14 94 94 M4 10 14 33 | 08
71 71 112 90 45 @14 30 5 11 7x10 132 | @147 | 241(255) |282(296)| 1-M20x1.5 | 20 94 94 M5 12 17 4.2 0.8
80 80 125 100 50 ®19 40 6 15.5 | 10x13 | 160 | ¢163 290 339 1-M20x1.5 | 27 105 | 105 | M6 16 21 5 1
90 S 90 140 100 56 924 50 8 20 10x13 | 175 | 183 312 361 1-M20%x1.5 | 30 105 | 105 | M8 19 25 6.8 1
90L1/L2 | 90 140 125 56 ®24 50 8 20 10x13 | 175 | @183 | 337/367 | 386/416 | 1-M20x1.5 | 30 105 | 105 | M8 19 25 6.8 1
100** 100 | 160 140 63 928 60 8 24 12x15 | 198 | @205 | 369(387) |425(443)| 2-M20x1.5 | 26 105 | 105 | M10 | 22 30 8.5 1.5
112 112 | 190 140 70 $28 60 8 24 12x15 | 220 | @229 395 463 2-M25x1.5 | 32 112 | 112 | M10 | 22 30 8.5 1.5
132S 132 | 216 140 89 $38 80 10 33 12x15 | 252 | @265 437 497 2-M25x1.5 | 38 112 | 112 | M12 28 37 10.2 | 15
132M/L | 132 | 216 178 89 938 80 10 33 12x15 | 252 | @265 | 475/501 | 535/561 | 2-M25%x1.5 | 38 112 | 112 | M12 | 28 37 | 102 | 15
160M/L | 160 | 254 |210/254 | 108 | @42 | 110 | 12 37 15x19 | 290 | @325 640 697 2-M32x1.5 | 64 143 | 143 | M13 | 36 45 | 14.2 2
180M/L | 180 | 279 |241/279| 121 | @48 110 14 | 42,5 | 15x25 | 340 | @368 730 2-M32x1.5| 73 190 | 190 | M14 | 36 45 | 14.2 2
200L 200 | 318 305 133 | @55 | 110 | 16 49 19x29 | 390 | @368 745 2-M40x15| 85 190 | 190 | M15 | 42 53 | 17.5 2
B5 Overall & Installation Dimensions
Frame B5 B5R
D E|F| G KK AC | HD L Lccl* |TBS|TBW |TBH| SS [XX| ZZ |CC | Y
M N P T|R| S M N P T|R| S
56 ®100| @80 |9120(3.0{ 0| @7 @9 (20| 3| 7.2 |1-M16x1.5| 117 | 100 196 232 14 | 88 | 88 | M3 | 9 | 12 | 25|0.5
63 ®115| 995 |9140|3.0| 0| @10 @11|23| 4 | 85 |1-M16x1.5| 9130 | 108 220 258 14 | 94 | 94 | M4 |10| 14 | 3.3 |0.8
71 |@130|9110|@160(3.5| 0 | 910 | @115 | 995 |9140(3.5| 0 |¢p10|@14|30 | 5 | 11 |1-M20x1.5| @147 | 115 [241(255)|282(296)| 20 | 94 | 94 | M5 |12 | 17 | 4.2 |0.8
80 ®165|9130|9200(3.5/0 | 912|130 |110|¢160(3.5| O |10 (19| 40 | 6 |15.5|1-M20x1.5| 163 | 133 290 339 27 | 105 | 105| M6 | 16| 21 5 1
90S |9165|¢p130|9200(3.5/0|¢12|9p130|p110|¢p160|3.5| 0 |@10|¢p24|50| 8 | 20 [1-M20x1.5| 183|139 312 361 30 | 105 |105| M8 |19| 25 |68 | 1
90L1/L2|p165|(p130|9200|3.5| 0 |12 |p130|¢p110|p160(3.5| O |10 |p24| 50 | 8 | 20 |1-M20x1.5| 183|139 | 337/367 | 386/416 | 30 | 105 [ 105| M8 |19 | 25 | 6.8 | 1
100* |215|9180|9250(4.0| 0 | 15| 9165 |9130|9200|4.0| 0 |@12|p28| 60 | 8 | 24 |2-M20x1.5| 9205 | 152 |369(387) | 425(443) | 26 | 105 | 105 |M10|22 | 30 | 85 | 1.5
112 |9215| 9180|9250 |4.0| 0 | 915|165 |p130|(p200|4.0| 0 | 12| 28| 60 | 8 | 24 |2-M25x1.5| 229|167 | 395 463 | 32| 112 | 112 |M10|22| 30 | 85 |15
132S | 9265|9230|@300|4.0| 0 | p15|(p215|(p180|9250|4.0| 0 | 15| 38| 80 |10| 33 |2-M25x1.5| 265|186 | 437 497 | 38 | 112 | 112 |M12|28| 37 |10.2|1.5
132M/L | 9265|9230 | 300 (4.0| 0 [ 15| 215 |p180|p250(4.0| O | 15|38 | 80 |10| 33 |2-M25x1.5| 265|186 | 475/501 | 535/561 | 38 | 112 | 112 |M12|28 | 37 |10.2|1.5
160M/L | 300|250 |9350(5.0| 0 | 919 $42|110|12| 37 |2-M32x1.5| 9325|224 640 697 64 | 143 | 143|M13| 36| 45 |14.2
180M/L | @300 | 9250|9350 (5.0 0 | 919 948 |110| 14 | 42.5|2-M32x1.5| 9368 | 260 730 73 | 190 | 190 |M14 |36 | 45 [14.2| 2
200L |9350|¢300|400(5.0/ 0|19 $55(110| 16| 49 |2-M40x1.5| ¢368 | 260 745 85 | 190 | 190 | M15| 42| 53 |17.5
B14 Overall & Installation Dimensions
Frame Bl14 B14R
i N B RS W N B SRS D|E|F| G KK AC | HD L Lccl* |TBS|TBW |TBH| SS (XX |ZZ|CC| Y
56 @65 | @50 | 80 |2.5/0| M6 @9 | 20| 3| 7.2 |1-M16x1.5| @117 | 100 196 232 14 88 88 | M3 | 9|12 (25|05
63 | @75 | 60 | 990 2.5/ 0| M6 [9100| @80 |9120 (3.0 M6 [11|23 | 4 | 8.5 [1-M16x1.5| 130|108 | 220 258 |14 | 94 | 94 | M4 10| 14 | 3.3 0.8
71 | 85 | ¢70 |@105|2.5/ 0| M6 |9115| 95 [9140(3.0| 0 | M8 |14 |30 | 5 | 11 |1-M20x1.5| (147|115 |241(255)|282(296)| 20 | 94 | 94 | M5 |12 | 17 | 4.2 |0.8
80 ®100| @80 |®120(3.0/0| M6 |®130|¢p110|p160(3.5(0| M8 |919|40 | 6 |15.5|1-M20x1.5| 9163 | 133 290 339 27 | 105 | 105 | M6 |16 | 21 | 5.0 | 1.0
90S |e115| @95 |9140(3.0{0| M8 |9130|¢p110|p160(3.5/0| M8 |24 |50 | 8 | 20 |1-M20x1.5| 9183|139 312 361 30 | 105 |105| M8 |19 | 25 | 6.8 1.0
90L1/L2 | p115| @95 |®140(3.0/ 0| M8 | 9130|110 |¢p160(3.5/0 | M8 | 924 |50 | 8 | 20 |1-M20x1.5| 9183|139 | 337/367 | 386/416 | 30 | 105 | 105 | M8 |19 | 25 | 6.8 | 1.0
100* |@130|@110|160(|3.5/0| M8 |p165|p130|¢9200|3.5| 0 |M10|p28| 60 | 8 | 24 |2-M20x1.5| 9205 | 152 |369(387)|425(443) | 26 | 105 | 105 |M10| 22| 30 | 8.5 | 1.5
112 |9130|¢110|9160|3.5/ 0| M8 |p165|¢p130(¢200(3.5| 0 |M10|¢p28| 60 | 8 | 24 |2-M25x1.5| 229|167 395 463 32 | 112 | 112 (M10|22| 30 | 85 |15
132S |p165|¢p130|9@200(4.0| 0| M10 | 9215 |¢p180|9250|4.0| 0 |M12|938| 80 |10| 33 [2-M25x1.5| (265 | 186 437 497 38 | 112 | 112 (M12 |28 | 37 |10.2| 1.5
132M/L |@165|¢130|9200|4.0( 0 | M10 |p215|p180 | 9250 |4.0| 0 [M12 |38 | 80 (10| 33 |2-M25x1.5| 9265|186 | 475/501 | 535/561 | 38 | 112 | 112 |[M12|28 | 37 |10.2|1.5
160M/L |¢215|(180|9250|4.0| 0 | M12 (42 1110|12| 37 |2-M32x1.5| (325|224 640 697 64 | 143 | 143 |M16 | 36 | 45 |14.2| 2.0
* for brake motors ®

** this frame size has two options,the rated output is for normal "L" size,and increased output is for thd large "L" size
(refer to the figures in the bracket"()")

TEC




Unit 15 Vauxhall Industrial Estate
Greg Street, Reddish

Approved s
HYDRAULICS United Kingdom

Telephone: 0844 770 7969
web: www.approvedhydraulics.o.uk

TBW

I3 5 TBS|
5 &
Yx45°120° 1l L
z 2 al
Colel| |E : —
=
. i
e c B s
L
IMB35 €]
B35 Overall & Installation Dimensions
B35 B35R
FEmD | K M N B T R S M N P T R 5 & 2 € 2 = F
56 56 | 100 | @80 | @120 | 3.0 0 o7 90 71 36 99 20 3
63 63 | o115 | 995 | ¢140 | 3.0 0 10 100 80 40 @11 23 4
71%* 71 ®130 9110 ®160 3.5 0 ¢10 115 95 140 3.5 0 ®10 112 90 45 914 30 5
80 80 | @165 | 9130 | @200 | 35 0 @12 | 130 110 160 35 0 010 | 125 100 50 19 40 6
90 S 90 ¢165 | @130 9200 3.5 0 @12 130 110 160 35 0 ®10 140 100 56 24 50 8
90L1/L2 90 165 | 9130 9200 3.5 0 12 130 110 160 35 0 ®10 140 125 56 924 50 8
100% | 100 | @215 | @180 | 9250 | 4.0 0 ¢15 165 130 200 4.0 0 @12 160 140 63 28 60 8
112 112 215 | 9180 $250 4.0 0 915 165 130 200 4.0 0 @12 190 140 70 928 60 8
1328 132 9265 | 230 $®300 4.0 0 ¢15 215 180 250 4.0 0 ®15 216 140 89 938 80 10
132M/L | 132 9265 | 230 ®300 4.0 0 ®15 215 180 250 4.0 0 ®15 216 178 89 938 80 10
160M/L | 160 | 9300 | 9250 | @350 | 5.0 0 19 254 | 210/254 | 108 | @42 110 12
180M/L | 180 | 9300 | 250 | ¢350 | 5.0 0 ®19 279 241/279 121 948 110 14
200L 200 ®350 | @300 ®400 5.0 0 »19 318 305 133 55 110 16
Frame G K KK AA AD AC L Lcel* TBS TBW TBH Sis XX 7z cc Y
56 7.2 5.8x8.8 1-M16x1.5 110 156 117 196 232 14 88 88 M3 9 12 2.5 0.5
63 8.5 7%x10 1-M16x1.5 120 171 ®130 220 258 14 94 94 M4 10 14 33 0.8
71% 11 7x10 1-M20x1.5 132 186 0147 | 241(255) | 282(296) 20 94 94 M5 12 17 42 0.8
80 15.5 10x13 1-M20%1.5 160 213 ®163 290 339 27 105 105 M6 16 21.0 5.0 1.0
90 S 20 10x13 1-M20%1.5 175 229 ®183 312 361 30 105 105 M8 19 25.0 6.8 1.0
90L1/L2 20 10x13 1-M20x1.5 175 229 ®183 337/367 386/416 30 105 105 M8 19 25.0 6.8 1.0
100** 24 12x15 2-M20x1.5 198 252 ®205 369(387) 425(443) 26 105 105 M10 22 30.0 8.5 1.5
112 24 12x15 2-M25x1.5 220 279 ®229 395 463 32 112 112 M10 22 30.0 8.5 1.5
132S 33 12x15 2-M25x1.5 252 318 $265 437 497 38 112 112 M12 28 37.0 10.2 1.5
132M/L 88 12x15 2-M25x1.5 252 318 ©265 475/501 535/561 38 112 112 M12 28 37.0 10.2 1.5
160M/L 37 15x19 2-M32x1.5 290 384 ©325 640 697 64 143 143 M16 36 45.0 14.2 2.0
180M/L 42.5 15%25 2-M32x1.5 340 440 368 730 73 190 190 M16 36 45.0 14.2 2.0
200L 49 19%x29 2-M40x1.5 390 460 368 745 85 190 190 M20 42 53.0 175 2.0
B34 Overall & Installation Dimensions
B34
Frame H A B © D E F G K KK
M N P T R S
56 56 90 71 36 99 20 3 7.2 5.8x8.8 1-M16x1.5 P65 $50 80 25 0 M5
63 63 100 80 40 @11 23 4 8.5 7%x10 1-M16x1.5 @75 $60 ®90 2.5 0 M5
71 71 112 90 45 914 30 5 11 7x10 1-M20x1.5 85 @70 ®105 25 0 M6
80 80 125 100 50 319 40 6 15.5 10x13 1-M20x1.5 ®100 980 ®120 3.0 0 M6
90 S 90 140 100 56 924 50 8 20 10x13 1-M20x1.5 ®115 995 ®140 3.0 0 M8
90L1/L2 90 140 125 56 24 50 8 20 10%x13 1-M20x1.5 ®115 995 ¢140 3.0 0 M8
100** 100 160 140 63 ©28 60 8 24 12x15 2-M20x1.5 ®130 @110 ®160 35 0 M8
112 112 190 140 70 ©28 60 8 24 12x15 2-M25x1.5 ®130 9110 ®160 3.5 0 M8
1328 132 216 140 89 $38 80 10 33 12x15 2-M25x1.5 ®165 ®130 9200 4.0 0 M10
132M/L 132 216 178 89 ®38 80 10 33 12x15 2-M25x1.5 9165 ®130 $200 4.0 0 M10
160M/L 160 254 210/254 108 42 110 12 37 15x19 2-M32x1.5 9215 ®180 $250 4.0 0 M12
B34R
Frame AC AD AA L Lcel* TBS TBW | TBH SS XX 2z cc Y
M N [P T R S]
56 @117 156 110 196 232 14 88 88 M3 9 12 25 0.5
63 ®100 ®80 9120 3.0 M6 ®130 171 120 220 258 14 94 94 M4 10 14 3.3 0.8
71%* 0115 | 995 | 9140 | 3.0 0 M8 | ¢147 | 186 | 132 | 241(255) | 282(296) | 20 94 94 M5 12 17 42 0.8
80 ®130 | @110 | @160 315 0 M8 ®163 213 160 290 339 27 105 105 M6 16 21 5.0 1.0
90 S @130 | @110 | @160 3.5 0 M8 $183 229 175 312 361 30 105 105 M8 19 25 6.8 1.0
90L1/L2 | @130 | @110 | @160 s 0 M8 »183 229 175 337/367 386/416 30 105 105 M8 19 25 6.8 1.0
100** @165 | @130 | 9200 3.5 0 M10 9205 252 198 369(387) 425(443) 26 105 105 M10 22 30 8.5 1.5
112 ®165 | @130 | 9200 315 0 M10 $229 279 220 395 463 32 112 112 M10 22 30 8.5 1.5
132S ®215 | @180 | 9250 4.0 0 M12 9265 318 252 437 497 38 112 112 M12 28 37 10.2 1.5
132M/L | 9215 | @180 | @250 4.0 0 M12 ©265 318 252 475/501 535/561 38 112 112 M12 28 37 10.2 1.5
160M/L 325 384 290 640 697 64 143 143 M16 36 45 14.2 2.0




	AcrCF86.tmp.pdf



